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Note:
Answer

all

the

following

questions.

Each

question

carries

l

mark.

()

(a)

rrerê

Choose

the

correct

answer:

(c)

rfirerâ

)
lim,n

HR

(a)0(b)ee)

/e

(d)

1W

The

value

of

lim,

n"
is:

The

finite

series

(a)

Divergent

(b)

Oscillatory

(c)

Convergent

(d)

None

of

these

(a)0(b)e(c)

l/e

(d)1
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1.

|4|

The

degree

of

homogeneous

function

f(xy)=*an(x/>)

is

(a)0(b)1(c)2(d)

None

of

these

(v)

|5|

(c)

B(7,

1-2n)

(d)

B(1-n,

1-n)

2r+5s+21

1

HEr4E

HrGU

(a)

2m+5m+2=0

(b)

2m'-5m+2=0

(a)

B(n,

1)

(c)

2m-5m-2=0

(b)

B(n,

1-n)

(
B(n,

1-2n)

(d)

B(1-n,

1-n)

The

value

of

ln

1-n

is:
(a)

B(n,

1)

Subsidiary

equation

of

2r+

5s

+2r

is:

(a)2

m'+5m+2

=0

(b)

2m²-5m

+2

=0

(c)

2m'-5m-2

=0

(d)

None

of

these

(b)

B(n,

1-n)

2200760

2200760

PTO



|61

Section-B'

State

and

prove

Archimedes

property

in
R.

(
3TtT

wy)

(Short

Answer

Type

Questions)

5x5-25

3.

-1

uf

Unit-II

+...

Note:
Answer

all

the

five

questions.

One

question

from

each

unit

is

compulsory.

Each

question

carries

5

marks.

Test

the

convergence

or

divergence

of

the

infinite

series

Unit-I

Show

that

J8

is

nota

rational

number.

Or

31dT

Or

(a)

f(x)=-4x

(b)

f(*)=t-6r

+llx-6
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2200760
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yt-q=xy

Solve

:

ôxôyôz

=0

�uôuôu

yt-q=xy

Or

2-*) 2, y- u=f*-y, ufa

3T

Or

(Y+Z)p+(2+X)q

=x+y

Solve:

JJ'=1

:

that Prove

(Y+Z)p

+(Z+X)q

=x+y

JJ'=1

5.

7

f

faf

f

4.

Unit-IV

Unit-III

gohTg-IV ganT§-III

1.

ôx

ôy

z

+

=0

+1lx-6

f(*)=-6*'

(b)

Ou

ou

ôu

then

prove

that

:

(a)

f(r)=r-4x

If

u=

Verify

f(x-y,

Rolle's

theorem

for

following

the

y-z, functions

:z-x)

|8|

191



|12|Or

Writea
brief

biography

of

Bodhayan.

|
13|

If

()5l

when

x0

and

f(0)

=0.

Show

that

f)
is

continuous

but

not

differentiable

at

x=0.

genrg-II

Unit-II

zh1g-III

Unit-IlI

State

and

prove

Taylor's

theorem.

9.

yitq-�

ax'

+by'+
cz'

=1

3R

Lx+

my+
nz=0

34T

Or

Find

the

maxima

and

minima

ofu
=x*

+y'

+z

subject

to

the

conditions

ar'+
by'

+cz'

=1
&

Lx+

my+
nz

=0.

Interpret

the

result

geometrically.

X=0

Or

State

and

prove

Euler's

theorem

fora

homogeneous

function

of

three

variables.
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Jahr-IV

Unit-IV

Classify

and

reduce

the

equation

oy?

to

canonical

form.

(D'-

DD'

+D'-1)z=
cos(x+2

y)
+e'

Solve:
(D'-

DD'

+D'

-1)z=
cos(r

+2
y)+
e"

:1-5

2,200]
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